o % 1 THI13-2
W4 [1] [2] [3]

X({1)  XGE+D-X3G-1) YD)
33-27 -26095. 731 4.435  8569.
33-28 -26092. 301 5.160 8568
33-29 -26090. 562 -1.206  8566.
33-A4 -26093. 507 -30.952  8548.
33-A3 -26121.514 -36.960 8538
33-A2 -26130. 467 -25.420 8517
it

i]

oo 1 TH14-1
R4 [1] [2] [3]

X(@{) XGE+1D)-X(3-1) Y (i)
2-1 -26064. 677 25. 161 8540.
2-12 -26041. 491 25.511 8538.
2-11 -26039. 166 5.307  8540.
2-14 -26036. 184 -23.837  8560.
2-13 -26063. 003 -26.920  8564.
2-4 -26063. 104 -3.450 8563
2-3 -26066. 453 -3.548 8543
2-2 -26066. 652 1.776  8542.
&t

[4]
Y(i+1)-Y(i-1)
402 -0. 758
. 831 -3.016
386 -19. 861
970 -28. 341
045 -31. 705
265 -27.334

RETHAR

[T

R T

[4]
Y(G+1)-Y(@(-1)
099 -3. 438
972 0. 772
871 21. 091
063 23. 287
158 3. 459
522 -20. 291
867 -21.112
410 -3. 768

RETHAR

[T

[2]%[3]

38005.
44292.
-10331.
—-264607.
—-315566.
—-216508.
14700.
7350.

E

297870
287439
061516
719440
143200
876300
083237
04

[2]#[3]

2148717.
217837.
45326.
—-204046.
230547
—29544.
-30313.
15171.
—-1238.
619.

430939
714692
402397
221731
133360
150900
640116
320160
277919
13

[1]*[4]

19780.

78694.
518184.
739516.
828182.
714250.
—-14700.

St

bt

564098
379816
651882
081887
601370
184978
083237

QLD
N

[1][4]

89610.
—-20104.

—-549192

1238

359526
031052

. 050106
—606304.
-90151.
528846.
550314.

98219.

616808
927377
443264
955736
144736

. 277919

J3 1A £

350-32-55
305-25-20
260-24-08
201-18-35
246-41-29
201-42-11

J3 1A A

357-13-02
39-14-28
81-10-05

171-19-07

260-58-3b

260-19-49

262-13-21

310-31-03

B A

181-05-21
134-52-25
134-58-48
120-54-27
225-22-54
135-00-42

A

226-41-59
222-01-26
221-55-37
270-09-02
269-39-28
179-21-14
181-53-32
228-17-42

ER:

3.477
3.000
17.663
30. 062
22. 627
17.723
398. 575

R

23. 213
3.002
19. 422
27.130
0. 644
19. 938
.471
3. 040
97. 860

—_
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1 THI14-2

. 184
. 382
. 582
. 128
.919
. 405
. 848
. 526
. 967
. 003

X({+1)-X(i-1)
. 621
. 602
. 254
. 337
L2717
. 929
.121
. 119
47T
. 783

[3]

Y(i)
8560.
8590.
8615.
8624.
8626.
8630.
8628.
8603.
8583.
8564.

P

063
844
181
483
908
180
438
196
285
158

fite

[4]

Y (i+1)-Y (i-1)
26.
55.
33,
11.
5.
L.
~26.
—45.
-39.
-23.
{Ear
(LTI

686
118
639
727
697
530
984
153
038
222

E

=]

[2]*[3]

2706717.
73898.
45264.
—2906.

—200808.
—-206511.

—61443.

—69849.

-55593.

203681.
—-3591.

1795.

752123
440088
160974
450771
537516
577220
106998
348324
936945
369714
234875
61

St

bt

AP,
N

[1]x[4]

—694801.
—1434797.
—875541.
—305208.
—148281.
—39855.
702983.
1176530.
1017328.
605235.
3591.

606224
713076
830898
403056
054543
589650
066432
318478
991746
055666
234875

J3 1Al £

81-07-59

81-07-32

81-06-57
126-26-53
171-20-28
215-29-28
259-30-03
260-11-42
260-58-b1
351-19-07

5 A

269-48-52
179-59-33
179-59-256
225-19-56
224-53-35
224-09-00
224-00-35
180-41-39
180-47-09
270-20-16

31.
24.
9.

ER:

153
632
415

3.015

21.

734

3. 000

25.
20.
19.
27.
185.

672
206
366
130
323



